COLOR:
TOP RAIL:

BOTTOM RAIL WOOD SPECIES:

BOTTOM RAIL WOOD FINISH:

*BRACKETS:

*END CAPS:

COLOR TO BE SELECTED FROM ONE OF C/S STANDARD COLORS.

*BRACKETS/CAPS/CORNERS ARE AVAILABLE WITH AN OPTIONAL POWDER
COAT FINISH. PLEASE ADVISE POWDER COAT FINISH IF REQUIRED.
STAINLESS STEEL END CAPS AND INSIDE/OUTSIDE CORNERS ALSO AVAILABLE.

ACROVYN 4000 COVER
(24U032xxx)
CHAMELEON COVER
(24U610xxx)

[76.2mm]

3"

11/2"
[38.1mm]

33/4"
[95.3mm]

6 3/8"
[161.9mm]

[101‘%mm] E:

WOOD CRASH RAIL /
(24W251xxx)
ALUMINUM RETAINER

(24A222000)

LEFT | RIGHT

TOTAL 0.S
L/F REQ'D

END END

cAps | caps | REQD

ALUMINUM RETAINER
(24A095000)

A\ BRBU THEHRS)

MIN. 20 GA. STEEL STUD
AND STRAPPING
(BY OTHERS)

1/4-20 X 3" S/S FLAT HD
BOLT W/ TOGGLE
32" [812.8mm] O.C. MAX.

STAINLESS STEEL
MOUNTING BRACKET
(24S5160000)

P-RAWGN

ACROVYN 4000

DRILL DIAMETERS
'WALL CONDITION SPECIFIED FASTENER (’3‘/3’;@:;
WALL RETAINER
STEEL STUD/GYPSUM WALL 1/4-20 X 3" S/S FLAT HEAD BOLT WITH TOGGLE 3/4" N/A 90H184002
CONCRETE/CONCRETE BLOCK 1/4" X 1 3/4" SIS FLAT HEAD MASONRY ANCHOR 3/16" N/A 90H390000
WOOD STUD/GYPSUM WALL #14 X 3" S/S PHILLIPS FLAT HEAD WOOD SCREW 7/32" N/A 90H538004
1/4 - 20 X 3" S/S FLAT HEAD BOLT 90H063002
(QE())SC:'I/TDDS)TEEL STUD/GYPSUM WALL 1/4" TOGGLER WING 1/2" N/A 90H062004
3M MOLDABLE FIRE PUTTY 90M012000
16 GA. MIN. STEEL STUD AND 16 GA. MIN.
STEEL STRAPPING / GYPSUM WALL #14 X 3" PHILLIPS FLAT HEAD SELF DRILLING S/S TEK
CONSTRUCTION REQUIRED SCREW ZINC PLATED N/A N/A 90H230003
(TEK SCREWS)
\l Q
Acrovyn JOB NO.: F&F:
Hughesville, PA 1800.233.8493 | 570.546.5941 CUSTOMER:
Mississauga, ON | 888.895.8955 | 905.274.3611
Www.c-sgroup.com REP, DATE.
© Copyright 2018 Construction Specialties, Inc. DRAWN BY SHEET NO

DOCH#: TS-930-023N

ISSUE DATE: 08/27/10

REV DATE: 11/9/18



AutoCAD SHX Text
 Copyright 2018 Construction Specialties, Inc.


	Sheets and Views
	24PRAWN-E-P-RAWGN


	TopRailColor: 
	BottomRailWoodSpeciesColor: 
	BottomRailWoodFinishColor: 
	BracketsColor: 
	EndCapsColor: 
	Text1: 
	Text2: 
	Text3: 
	Text4: 
	Text5: 
	Text9: 
	Text6: 
	Text10: 
	Text7: 
	Text11: 
	Text8: 
	Text12: 
	Project: 
	Revision: 
	JobNumber: 
	Customer: 
	F&F: 
	Rep: 
	DrawnBy: 
	Date: 
	SheetNumber: 


